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QUESTION 1

What is one of the limitations of traditional Antivirus when compared to Next Generation Antivirus?
A. Traditional AV does not need a client installed on the machines to function

B. Traditional AV focuses on signature or definition based threats

C. Traditional AV requires integration with a SIEM to use the next generation features

D. Traditional AV does not provide a dashboard

Correct Answer: B

QUESTION 2

Refer to the exhibit.

0 Mame 1] Sources Destinations  Services  Profiles Applied 1o Action
Block S5H Traffic (1) Category: LOCAL GATEWAY
Block SSH Ay App-Servers L SSH None TO-GW-01 #0p~ O
DB-Servers
Web-Servers

Which statement is true about the firewall rule?

A. Itis a gateway firewall applied to a Tier-0 gateway that drops traffic on port 22

B. It is a distributed firewall applied to App-Services, DB-Servers and Web-Servers that rejects traffic on port 22
C. Itis a distributed firewall applied to App-Services, DB-Servers and Web-Servers that drops traffic on port 22
D. Itis a gateway firewall applied to a Tier-0 gateway that rejects traffic on port 22

Correct Answer: A

QUESTION 3

A technician has been asked to confirm a specific browser extension does not exist on any endpoint in their
environment. Which is the VMware Carbon Black tool to use for this task?

A. Enterprise EDR

B. EDR
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C. Audit and Remediation
D. Endpoint Standard

Correct Answer: A

QUESTION 4
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Micro segmentation is under which pillar of trust in VMware\\'s 5 pillars of Zero Trust?

A. User

B. Session/Transport
C. Application

D. Device

Correct Answer: B

Reference: https://events.afcea.org/Augusta20/CUSTOM/pdf/Dell%20Technologies%20-%20ZeroTrust.pdf

QUESTION 5

Which Workspace ONE feature incorporates network range, device platform, and authentication method into decision
making when evaluating an access request from a user?

A. Sensors

B. Compliance Policies
C. Access Policies

D. Restriction Profiles

Correct Answer: C
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